
BEE25
BEE25 ALUMINUM 

ALLOYHEAD 
INSTALLATION

Note: For 3D rendering purposes; actual product may va爀礀.

*Due to the small screw size, please install them manually. 
Avoid using an electric screwdriver to prevent excessive torque, which could cause screws to break.

BEE25



Antenna Replacement Steps

2. Install the provided antenna into the 
corresponding inte爀昀ace and secure the 
antenna cover with an original
 M1.6*8 Phillips screw.

3. Remove the remaining three screws under 
the Type-C po爀琀 of the O3 Air Unit.

1.  Remove the screws from the 
antenna cover and slide out the 
original antenna to the right.

Note: The O3 Air Unit in the illustration is for 3D
 rendering purposes only; the O3 Air Unit is not included as standard equipment.



M2 (6mm)

M2 (10mm)

M1.6 (8mm)

M1.6 (8mm)

M2 (6mm)

Aluminum Alloy Head Installation Steps

1. Install the two M2*6mm (hex socket button head)
 screws and two M2*10 aluminum stando昀昀s onto 
one side of the aluminum alloy.

2. Install the O3 Air Unit with the Type-C po爀琀 
facing up onto one side of the aluminum alloy. 
Secure it to the bottom side with two 
M1.6*8mm (hex socket cup head) screws.

3. Pass the replaced antennas through 
the sides of the aluminum alloy head.

6. Wrap the connection cable between the 
O3 Air Unit and the camera three times. Then, 
place the camera between the two camera 
damping silicone pieces and secure it with 
four M2*6mm (hex socket button head) screws.

4. Align the four mounting holes on the other 
side of the aluminum alloy with the stando昀昀s 
and the O3 Air Unit mounting holes, 
and secure them with two M2*6mm 
(hex socket button head) screws and two 
M1.6*8mm (hex socket cup head) screws.

M2 (6mm)

5.Install the camera damping 
silicone from the inside out into the head.

* Wrap the connection cable 
  between the O3 Air Unit 
  and the camera three times.



Antenna Mount Installation Steps

Antenna Mount

Copper Tube Antenna
Install the copper tube antenna in the 
designated position and secure it with 
two M1.6*4mm (昀氀athead Phillips) screws.



Head Fixation Steps

Attach the assembled head to the protective 
ring and secure it with four M2*8mm
 (hex socket button head) screws.

Note: Pay attention to the antenna 
placement during the head installation 
to avoid pinching the antenna.

Inse爀琀 the rese爀瘀ed 6Pin cable
into the O3 Air Unit.


